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(T8 1905, 9
T & <ukd] (149 28] (14)) WEH](19)) H] 3L
Z 5 Ay 8,000 5,000 15,000
=AY 8,500 5,500 15,500
15 9,000 6,000 16,000
Ok LRl 10,000 6,000 17,000
% AlB|o| H AlTHHA @7 Al ARBXIeH W Ho| (The AIMARBAIS| AlB|E flof Z=&Y
¥ 19M| Ofst A2 DSshdolst dAeH| M E.
O o AEAER AHEE
(&9 - D)
T A&7 AL & B 21—
S 14 /1%9} 44,000
o 39 14 /4~ ZE 300,000
3] o A (o) 14 /4A13E 150,000
3] o A (F) 14 /447F 100,000
3] 9 4 (&) A /4 A1 ZE 100,000
052 5% 1 /442F 200,000
78 3z 3} o] o 1H/13] 300,000 et L9V
Ao 5% 19 /4~ 3E 200,000
EEZo|% 1H/1Y 200,000
Aol E A < 1% /1A14 S}AY(5,000), 2HK15,000)
AGAA 14 /13 10,000
of & & 19 /14 35,000
VEaA 14 /14} 73,000
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1. A8
O Z=HBTAAESY AR A Z J[E2E4 2 ofgAo] AlF LAHo uwtal AA
AlgE AAS B3 g A9 FHASF XY
2. 1] & A 92l
O 7554 2 ofgd +9& A 175 & +940|19 Al &9 & 95
3. AHZXE
O AALQPEF 2T A24x(e]gs D FHHE)
O FAHEZAASHEY 49 2 Ao &3 =4 A0ZALEALEE B
4. v & FA A
7 . FAL] A A
O AWAAGA| A4 =F7|F 7HALEA O A% 9 H]
O FF+Y FAAME 24 2 F3A) A4S 185ty 34 9 FYES g3
H| 8-
. F=A4 A3
O (71554 97341 55,150 A(d) /| F 5 (G0%UTHAD 74,4607 <
O (¢F374) &F74H 44,1071 A0 d) | ) 5(50% A HAD 47,2507 <
o AL 2GRt
O A5 99X U Es - =H(100%)
5. A= B E&FA A
S 133 = 22 A = 3PA = 4APA = 5aRPA = A
= (2021'3) (2022'3) (2023'3) (2024'3) (2025)
Al ) 60,855 121,710 121,710 121,710 121,710 547,695
AdgEd
b=l 60,855 121,710 121,710 121,710 121,710 547,695
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AdgEd
w 7+o) e 49,621 99,257 99,257 99,257 99,257 446,649
= 100%)
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ol AR 5,305 10,310 10,310 10,310 10,310 46,545
B #eln) 1,658 3,300 3,300 3,300 3,300 14,858
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